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10.

Instructions for the Candidates e

1. Write your roll number in the space provided on the top of this page. :

2. This paper consists of seventy five multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

® 6 @ 0

where (C) is the correct response.

(ii)

Example :

Your responses to the question of Paper Ill are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of
OMR Answer Sheet soon after the examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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10.

11.
12.
13.
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PSYCHOLOGY
PAPER - li

Instructions: This paper contains seventy-five (75) objective type questions. Each question

carries two (2) marks. All questions are compulsory.

1. Need for achievement is measured by
(A) Binet scale
(B) Semantic differential scale
(C) MMPI
(D) TAT

2. Anger and hostility are frequently related
to

A
B
C
D

Frustration of motives
Instinct
Learning

~— N S S

Power motive

3. Match List — | with List— |l and select your
answer using the codes given below the

list.
List-1 List-1I

a) Negative 1) Removal of positive
reinforcement  Stimulus

b) Positive 2) Introduction of

reinforcement  negative stimulus
c) Punishment 3) Introduction of positive

stimulus
d) Ignoring 4) Removal of negative
stimulus
Codes
a b c d
(A) 3 4 1 2
(B) 2 3 1 4
(©) 4 3 2 1
(D) 3 2 1 4

K-1513 (3

4. Given below are two statements :
Assertion (A) and Reason (R). Indicate
your answer using the following codes :
Assertion (A) : In a regression equation
slope represents the predicted value of y
when x is equal to zero.

Reason (R) : In multiple regression
researcher tries to predict the value of DV
based on different values of IV.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

5. Given below are two statements :
Assertion (A) and Reason (R). Indicate
your answer using the following codes :
Assertion (A) : Scores on a new test show
poor correlation with scores obtained on
a standard test reflecting low validity.
Reason (R) : Temporal stability of test
scores reflects high test - retest reliability.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true
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6. The major problem with Jensen theory
of intelligence is

(A) He over emphasize the role of
environment

(B) He assumed that within group
differences reflect between group
differences

(C) He used tests and measures that
were not valid

(D) He did not consider the percentage
of Black Americans living in U.S.

7. Most effective schedule of reinforcement
is
(A) Fixed ratio
(B) Fixed interval
(C)
(D)

D

Variable ratio
Variable interval

8. Given below are two statements :
Assertion (A) and Reason (R). Indicate
your answer using the following codes :
Assertion (A) : Most functions in the
brain are contra laterally controlled.
Reason (R) : Different aspects of
functions are represented in both
hemispheres of the brain.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true

K-1513 @

9. Latent learning was studied by
(A) Kohler and Hull
(B) Kohler and Tolmen
(C) Tolmen and Skinner

(D) Skinner and Pavlov

10. A classical conditioning paradigm

involves

(A) Adding a new response

(B) Producing a correct response
(C) Stimulus substitution

(D) Response subscription

11. In Skinner’s theory successive

approximation is a component of

(A) Extinction
(B) Shaping
(C) Spontaneous recovery

(D) Reinforcement schedules

12. According to Tolmen, one learns
(A) S-S connection
(B) S — R connection
©) SHR connection
(D) H.A.T.A. connection
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AT
13. fMRl is
(A) An Invasive technique
(B) A non invasive technique
(C) An electro physiological technique

(D) Atechnique to study visual process

14. Match List — | with List — Il and indicate

your answer using codes given below :

List—1 List—1II
(Therapies) (Focus)
a) Behavior 1) Antipsychotic drugs,
ECT psycho surgery
b) Cognitive  2) Modifies behavior

through learning
techniques

c) Existential- 3) Shows the client to

Humanistic recognise the
thought process
d) Somatic 4) Aims to achieve their
full potential
Codes :
a b c d
(A) 1 3 2 4
(B) 3 2 4 1
(0} 4 3 1 2
(D) 2 3 4 1
K-1513 @

15. Match the following research meth
with their advantages.

List—1 List-1I
(Methods) (Advantages)
a) Naturalistic 1) Indepth

observation understanding

b) Case studies 2) Collection of large

data
c) Survey 3) Allows the study of
real world
phenomena in
which variables
cannot be
manipulated
d) Quasi- 4) High ecological
experiment validity
Codes :
a b c d
(A) 3 1 4
(B) 4 1 2 3
(C) 2 1 3 4
(D) 1 3 2 4

16. Who wrote the book “The Principles of
Psychology” ?

A) Willhelm Wundit
B)
C)
D)

(
(B) William James
(C) James Lange

(D) James Watson
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17. According to Hans Selye stress
experience goes in the following

sequence.

(A) Resistance, Alarm, Burnout,

Exhaustion

(B) Exhaustion, Alarm, Resistance,

Burnout

(C) Alarm, Resistance, Exhaustion,

Burnout

(D) Burnout, Alarm, Resistance,

Exhaustion

18. Match the suitable profession with the

form of intelligence.

List—1 List-1I
(Form of (Profession)
intelligence)

a) Linguistics 1) Dance and athletics

b) Spacial 2) Journalism and law
c) Bodily- 3) Architecture
kinesthetic and surgery

d) Interpersonal 4) Politics and teaching

Codes :
a b c d
(A) 2 3 1 4
(B) 1 3 4 2
(C) 3 1 4 2
(D) 2 1 4 3
K-1513 @

19.

20.

Given below are two statements :
Assertion (A) and Reason (R). Indicate
your answer using the following codes :
Assertion (A) : When seen from a top of
hill houses look like match boxes.

Reason (R) : Perceived size of objects
does not depend on the actual size of
retinal image.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

Match List — | with List — Il and indicate
your answer using codes given below :

List—1 List—1I
a) Managerial 1) Hessey and

grid Blanchard
b) Contingency 2) Robert house
model for
leadership
c) Path goal theory 3) Fielder
d) Situational 4) Blake and
leadership theory Mouton
Codes :
a b c d
(A) 3 4 1 2
(B) 2 1 3 4
(C) 4 3 2 1
(D) 1 3 2 4
Paper Il
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21. The strengthening of response by

removing an unpleasant stimulus is
(A) Negative reinforcement

(B) Positive reinforcement

(C) Neutral reinforcement

(D) None of the above

22. Somambulism refers to
(A) Bad dreaming
(B) Inability to sleep
(C) Sleep walking

(D) Oversleeping

23. Hypochondriasis refers to

(A) Abnormal anxiety about social

status
(B) A state of depression
(C) Fear of loosing

(D) Abnormal anxiety about health

24, and are types of

Schizophrenia.
(A) Catatonic and paranoid
(B) Obsessive and compulsive
(C) Manic and depressive

(D) Anxiety and phobia

K-1513

(0

ingredients common to Management By

Objective (MBO) ?

(A) Individual objective; departmental
objective; divisional objective;
overall organizational objective;

(B) Divisional objective; overall
organizational objective;
departmental objective; individual
objective

(C) Departmental objective; divisional
objective; individual objective;
overall organizational objective

(D) Overall organizational objective;
divisional objective; departmental

objective; individual objective

26. Whose theory explains the concepts of
need for achievement, affiliation and
power ?

(A) Alderfer
(B) McClelland
(C) Pearson

(D) Herzberg
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27. Match List — | with List— |l and select your
answer using the codes given below the
list :

List—1
a) Halo effect

List-1I

1) Atendency to
recall in
complete task
better than
completed

2) Atendency to
rate high or low
on all because
of global
impression

c) Hawthorne effect 3) Thorndike’s
experiment

4) Effect of
illumination on

b) Zeigarnik effect

d) Law of effect

performance
Codes :
a b c d
(A) 2 1 4 3
(B) 3 4 1 2
©) 4 3 2 1
(D) 1 3 2 4

28. Which of the following is the correct
sequence in Kohlberg theory of moral
development ?

(A) Instrumental relativist; interpersonal
concordance; law and order;
punishment and obedience

(B) Interpersonal concordance; law and
order; punishment and obedience;
instrumental relativist.

(C) Punishment and obedience;
instrumental relativist; interpersonal
concordance; law and order

(D) Law and order; interpersonal
concordance; instrumental relativist;
punishment and obedience

K-1513

(13)

(A) The control of hunger, thirst and sex

(B) Breathing regulation
(C) Balance and co-ordination
(D) Speech

30. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Indicate your
answer using the codes given below :
Assertion (A) : If a teacher encourages
asking questions by verbal reinforcement,
it is likely that more children would ask
questions in future.

Reason (R) : Negative reinforcement
reduces the occurrence of a behaviour.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

31. Which of the following is the correct
segeunce in development ?

(A) embryo; zygote; fetus; neonate;
infant

(B) zygote; embryo; fetus; neonate;
infant

(C) neonate; embryo; zygote; fetus;
infant

(D) fetus; neonate; zygote; embryo;
infant
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32. In which sequence sound travels after
entering ear ?
(A) eardrum; middle ear; cochlea;
auditory canal
(B) cochlea; middle ear; eardrum;
auditory canal
(C) Middle ear; cochlea; auditory canal;
eardrum

(D) auditory canal; eardrum; middle ear;
cochlea

33. Which one of the following is not
associated with teacher’s
professionalism ?

(A) Commitment to the religion and
caste

(B) Commitment to the profession and
students

(C) Commitment to the colleague and
employer

(D) Commitment to the parents and
community

34. Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the following codes :

Assertion (A) : Damage to the temporal
lobe can result in psychological
dysfunction viz blindness.

Reason (R) : The temporal lobe forms
and stores visual and verbal memories.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

K-1513
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36.

37.

__________ than iconic memory, but it
capacity is probably

(A) Shorter; larger

(B) Longer; smaller

(C) Longer; about the same

(D) Shorter; about the same

Which of the following models views
memory as created and stored across a
network ?

(A) Levels of processing

(B) Parallel distributed processing
(C) Information processing

(D) Three stage model

Match :
List—1
a) Medulla

List-1I

1) For emotion and
maintaining
homeostasis

b) Thalamus 2) Responsible for
respiration and
postural reflex

c) Cerebellum  3) Relay station for
incoming sensory
information

d) Hypothalamus 4) Concerned with

motor coordination

Codes :
a b c d
(A) 2 1 4 3
(B) 3 4 1 2
©) 2 3 4 1
(D) 4 1 3 2
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38. Match List | with List Il and indicate your
answer using the codes given below the

list :
List-1 List—1I
a) Egocentric 1) Sensory motor
thought
b) Object 2) Formal
performance operational
c) Abstract 3) Pre operational
reasoning
d) Conservation 4) Concrete
and reversibility operation
Codes :
a b c d
(A) 1 3 4 2
(B) 3 1 2 4
(C) 2 4 1 3
(D) 4 3 2 1

39. Match List — | with List — Il and indicate
your answer using the codes given below

the List.
List—1 List-1I
a) Analytical 1) Freedom of
psychology choice
b) Individual 2) Neurosis
psychology
c) Existential 3) Will power
psychology
d) Psychodynamics 4) Archetypes
Codes :
a b c d
(A) 4 3 1 2
(B) 1 2 4 3
(©) 3 2 1 4
(D) 2 4 3 1
K-1513

()

decision making process ?

(A) Define the problem; develop the
alternatives; identify the decision
criteria; select the best alternative

(B) Select the best alternative; identify
the decision criteria; define the
problem; develop the alternatives

(C) Define the problem; identify the
decision criteria; develop the
alternatives; select the best
alternative

(D) ldentify the decision criteria; develop

the alternatives; select the best
alternative; define the problem

41. Match List — | with List — Il and indicate
your answer using the codes given below
the list :

List—1 List—1I
a) Differential Ability 1) Dekker,
Scale (DAS) Drenth, Zaal
and Koole
b) Concept 2) Raven
Assessment Kit
(CAK)

c) Intelligence Test for 3) Piajet
Visually Impaired
Children (ITVI)

d) Standard 4) C.D. Elliott
Progressive
Matrices (SPM)
Code :
a b c d
(A) 2 1 3 4
(B) 1 3 4 2
©) 3 2 4 1
(D) 4 3 1 2
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AT
42. Who is best known for his X’ and ‘Y’
Theory ?
(A) Moreno
(B) Maslow
(C) Fielder

(D) McGregor

43. Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the code given below :
Assertion (A) : The melody of all musical
notes put together is totally different from
the melody of individual musical note.
Reason (R) : Whole is greater than sum
of its parts.

Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true

K-1513

45.

Assertion (A) and Reason (R). Indicate
your answer using the code given below :
Assertion (A) : ANOVA can be one way,
two way and even three way also.

Reason (R) : Two way ANOVA reveals
the interaction but not the three way
ANOVA.

Code :
(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, and (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the code given below :
Assertion (A) : Children have remarkable
ability to create mental representation of
the world in the form of language.
Reason (R) : Forming mental
representations using linguistic code is
called linguistic relativity.
Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true
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46. Which is correct sequence according to

Erikson ?

(A) Intimacy Vs isolation; ego identity
Vs role confusion; generativity Vs
stagnation; ego integrity Vs despair

(B) Ego identity Vs role confusion;
intimacy Vs isolation; generativity
Vs stagnation; ego integrity Vs
despair.

(C) Egointegrity Vs despair; generativity
Vs stagnation; ego identity Vs role
confusion; intimacy Vs isolation

(D) Generativity Vs stagnation; intimacy
Vs isolation; ego identity Vs role
confusion; ego integrity Vs despair

47. Given below are two statements.

Assertion (A) and Reason (R). Indicate
your answer using the code given below :

Assertion (A) : Bystander apathy is due
to the inheritance of certain typical traits.

Reason (R) : Diffusion of responsibility
is the cause for bystander non intervention
in crisis situation.

Code :
(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

Assertion (A) and Reason (R). Indicate

your answer using the code given below :
Assertion (A) : The arithmetic mean for
self confidence score of a group of
students is 25 and the score 25 divide
the entire distribution into two equal parts,
as well as it is the score 25 which has
occurred most frequently in the
distribution.
Reason (R) : The main three measures
of central tendency falls on same line in
normal distribution.
Code :
(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

49. Which of the following is the order of

increasing frequency ?
(A) Delta; theta; alpha; beta
(B) Alpha; beta; delta; theta
(C) Beta; alpha, theta; delta

(D) Alpha; delta; theta; beta
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50. Which of the following is the correct
sequence during the period of

adolescence ?

(A) Puberty; teenage; prepuberty;
mid adolescence

(B) Teenage; mid adolescence;
prepuberty; puberty

(C) Prepuberty; puberty; teenage; mid

adolescence

(D) Mid adolescence; prepuberty;

puberty; teenage

51. Teaching a monkey to jump through a

flaming hoop involves the process of

(A) Shaping

(B) Desensitization

(C) Classical conditioning
(D)

D) Modeling

52. Anxiety, recurring nightmare, sleep
disturbances and concentration problem
that occur more than one month after a

major stressor are the symptoms of
(A) Acute stress disorder
(B) Pre-traumatic stress order
(C) Post traumatic stress disorder
(

D) General stress disorder

K-1513

()

53.

54.

Match the following Lists using the ¢

given:
List-1 List—2
a) Gene 1) Random errorsin gene
replication
b) Genome 2) Complex molecules
containing the genetic
information
c) DNA 3) The biochemical units
of heredity
d) Mutation 4) Complete set of
genetic instruction
Code :
a b c d
(A) 3 2 4 1
(B) 3 4 1 2
(C) 3 4 2 1
(D) 4 3 2 1
James being highly aggressive becomes

a professional boxing player. This is an
example of the following defense

mechanism

(A) Identification
(B) Displacement
(C) Projection
(D) Sublimation
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55. When a person suffers unpleasant
withdrawl symptoms from a drug being
discontinued he/she is said to have
developed.

(A) Tolerance
(B) Physical dependency
(C) Psychological dependence

(D) Resistance

56. Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the code given below :
Assertion (A) : The high achievement
motivation displayed by children has
emotional roots.
Reason (R) : Highly motivated children
are encouraged and praised by parents
from an early age.
Code :
(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true

K-1513

(2)

57.

58.

59.

60.

Which of the following is not a stimula
A) Alcohol

B) Amphitanine
C)

D)

(
(
(C) Caffine
(

Nicotine

Which of the following is a monocular

depth cue ?

A) Relative size
B) Convergence
C)

D)

(
(
(C) Retinal disparity
(

None of the above

Which of the following technique can be
used when the researcher wishes to
control the influence of extraneous

variables ?

A) ANOVA
B) MANOV
C) Regression analysis

D

(
(
(
(D) ANCOVA

)
)
)
)

Serial position effect in list learning is

related to
(A) Shortterm memory
(B) Long term memory
(C) Episodic memory

(D) Flash bulb memory
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61. Research studies on animals have found
a positive correlation between
aggressive tendency and the following
hormone.

(A) Estrogene

(B)

(C) Epinephrine
(D)

Adrenaline

Testosteron

62. According to Kurt Levin, all the internal
and external forces that act on an
individual is

(A) Life task

(B) Life course
(C) Life space
(D) Life skill

63. Which of the following has been found to
be most effective in treating sexual
disorders ?

(A) Behavioral

(B) Drug therapy

(C) Cognitive therapy
(D) Psychotherapy

64. A person who requires increasing
amount of drug in order to feel its effect is
said to have developed

(A) Tolerance

(B) Physical dependency

(C) Psychological dependency
(D)

D) Resistance

K-1513

(@)

65. Which one of the following is ha
bipolar adjective ?

(A) Sociogram

(B) Semantic differential

(C) Social distance

(D) Equal appearing interval

Read the following paragraphs and answer
the five questions which follow :

In Interpersonal impression formation, central
traits of personality and implicit personality
theories play an important role. implicit
personality theory refers to how personality
is organized and what trait goes with what
other traits. Halo effect is a tendency to view
a person in a generally good light or bad light,
which also interferes in the accuracy of
impression formation. Another factor is effect
of expectancy. Believing that a person has a
particular characteristic because of
information we have received about him, not
only influence our impression of him, but
change our behaviour towards him - self
fulfilling profecy. Some time it leads to social
problems which has also been called labeling,
which makes it difficult in attaining true
potential.

66. The tendency to view another person in
a generally favourable light and over
estimate his positive trait is called

(A) Implicit personality theory
(B) Stereotype

(C) Halo effect

(D) Self-fulfilling profecy
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67. Inthe impression formation, which of the

following is an effect of expectancy ?
(A) Self fulfilling profecy

(B) Correspondent inference
(C) Causal attribution

(D) Halo effect

68. Which of the following may prevent
attainment of true potential of the
individual in an interpersonal situation ?
Indicate your answer from the codes

given below :
1) Impression management
2) Catagorization
3) Social learning
4) Labeling
Code :

A) 1 only

(A)

(B) 1and 2 only
(C) 2and 3 only
(D)

D) 4 only

69. Relatively simplex cognition that blinds
the perceiver to the manifold differences
of person to be judged is called

(A) Prejudice

(B) Aggression

(C) Social cognition

(D)

D) Stereotypes

K-1513

idea about how personality is organized

and traits are combined ?
A) Central traits theory

(A)
(B) Peripheral traits theory
(C) Cardinal traits theory

(D)

D) Implicit personality theory

Read the paragraph and answer the

questions given at the end :

Frequency tables, histograms and frequency
polygons are some of the popular ways of
visual or tabular presentation of data. A
frequency table organizes the scores into a
table format. The pattern of frequencies in a
distribution can be shown visually with a
histograms in which the height denotes
frequency. The general shape of histograms
may vary. It may be bell-shaped /skewed/
kurtotic. Statistical graphs are sometimes
distorted by media to misbad public. Thus

figure can also present statistical lies !

71. Statistical lie means
(A) Wrong calculation
(B) Wrong numbers
(C) Wrong statistics
(D) Wrong depiction
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72. A histogram cannot be 74. Statistics is used by Psychologists to

(A) Normal (A) Describe the data

(B) Kurtotic (B) Make histogram

(C) Kurtotic and skewed (C) Unravel what is not in the data
(D) Skewed (D) Find out reliability of data

73. The following will distort a frequency | 5 gar diagram is also called

I :
POygon (A) Polygon

(A) Use of equal interval size .
(B) Cumulative polygon

(B) Exaggeration of proportions
(C) Histogram

(C) Continuous scores
(D) Yen diagram

(D) Percentile scores
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